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(21E 4/24 10/30 121Mm 4/24 7/19 10/30 1/14 HAAE F1[E] 4/24 4/24 4/24 5/13 6/11 7/2 8/8 9/10 10/17 118 12 | 18 | 28 ]
@ k&1 #+ > 2E(pH) - 5.8~8.6 [@) 7.8 6.7 7.3 7.4 5.8~8.6 [@) 7.0 6.8 7.0 7.5 7.2 7.5 7.2
@ |Emie3nr%ERE(BOD) me/ 4 60LLT @] 3.3 2.1 2.3 2.2 605U @] 0.9 7.7 9.2 36 1.1 0.5 17
£ | ® [FEnERESS) mg/ 2 60LL T O 70 25 3.6 14 605 @] 3.0 13 3.0 0.9 2.4 0.5 9.5 QIR SKOBRHAE D 7 D ERIK AT
@ |2=eE8 mg/ ¢ 1200 F O 3.2 - 0.9 0.6 60LLT O 14 11 11 13 21.0 20 7.3
_ | ®|exnmezsrE(CcoD) me/ 2 90LLT O 11 7.0 90LLTF @] 6.1 0.5 0.7 10 11.0 10 18
& ® |BiEymE mg/ ¢ 30T @] 0.5k % 0.5 30T (@) 0.5k
D|7z/—n4 mg/ ¢ 5T O 0.55K 0.5k 5 O 0.5
= 3R me/ 4 3T O 0.01K | 0.01KH 3T O 0.01K %
© = mg/ 2 2L O 0.055%# | 0.055%74 2T @] 0.05#
15 ERRIESK mg/e | 10MF O 0.16 0.16 10T [@) 0.11
@ A~ 5> me/ 2 10 F O 0.09 0.75 10 F O 1.1
(DI PA=PA mg/ 2 2T O 0.1 015K 2T O 0.1
B ® [ KBERL 1&/ml 300064 F @) 0 0 300064 F O 0
SR mg/ ¢ BT @] 0.5k % 0.5 5T (@) 0.5
® YA me/ ¢ 16T @] 0.10 0.065K% 16T O 0.06K
1 [7r+rkeg mg/0 | mHsnmes O 0.00055%;# | 0.0005K# RS NELE @] 0.0005:K;# | 0.00055K5 | #itsnsvs @] 0.00055%
2 [#okiR mg/¢ | 0.005F @] 0.00055 7 | 0.0005K 0.0005F @] 0.000055&5#] 0.0000555#%|  0.0055LF @] 0.0005K
3[(ARIVA mg/ 8 0.03F O 0.0003 % | 0.00034 % 0.003F O 0.0003# | 0.0003 % 0.1 T O 0.0003#
4 |5 mg/ 2 01T O 0.001K5# | 0.001%# 0.0LF @] 0.0015% | 0.001K7H 0.1F @] 0.0015%
5 |<ff2 a8 L mg/ ¢ 05T O 0.05%% | 0.055% 0.054F O 0.005m | 0.0054 0.5 F O 0.055#
6 |t= mg/ ¢ 0.1UF O 0.001%5% | 0.001%# 0,01 F O 0.001% 0.003 0.1 F O 0.001%
AP ZeZ (4= mg/ ¢ 1T @) 0.1 0.1K7 R nsLE O 0.1k 0.1k T O 0.1K5%
8 |RVUik{Ee 7 = =1L (PCB) mg/ ¢ 0.003LLF @] 0.00055 % | 0.0005K RHENELE O 0.00055K77 | 0.0005K5# | 0.003F @] 0.0005
9 |tVsBATIFLY mg/ 8 0.1UF O 0.0015&5% | 0.001%H 0.01F O 0.001%m | 0.001%% 0.3 F O 0.001
5 10(F+Z2RRZFL > me/ ¢ 0.1UTF @] 0.0015K# | 0.001%kKiH 0.01F O 0.0015%5 | 0.001KH 0.1UTF O 0.001Kji
11|¥sraxs>r meg/ 8 0.2F O 0.0015&5% | 0.001%7H 0.02F O 0.001m | 0.0014% 0.2LF O 0.001k
12 |miEfbix R mg/ ¢ 0.02L4F @] 0.00017 | 0.0001% % 0.0024°F @] 0.0001# | 0.00015K5# 0.02LLF O 0.0001
& 13[12-¥/nRzx> mg/ 8 0.041F O 0.0004 | 0.0001k;# 0.0044F O 0.00015&3% | 0.00015K#& | 0.048F O 0.0004
14111-¥saRTFL > mg/ ¢ 1 @] 0.001%5% | 0.001% 0.1UF O 0.001% | 0.001K7H 1 O 0.001%
| 15|12-¥saaTFL > mg/ ¢ 0.044F O 0.001m | 0.0014% —
16|>z-12vsppzFL > me/ ¢ 0.4 F @] 0.0015# | 0.001%kKiH 0.044F 0.4 F O 0.001Kji
= 17|111L1-tU 7RI R mg/ 8 3T O 0.0015&5% | 0.001%kH 1T O 0.001m | 0.0014% 3T O 0.001
18[112-rvsmnz4> mg/0 | 0.065LF O 0.0001%% | 0.0001K 0.0064 T O 0.0001%3 | 0.00015K5# |  0.06LLF O 0.00013%
19(13-¥/mr7a~> mg/ 8 0.02F O 0.00015 | 0.00014 % 0.0024F O 0.00015K3% | 0.00015K5#& | o0.028F O 0.00015#%
A 20(F7 74 mg/ ¢ 0.06L4F @] 0.00055 % | 0.0005K 0.006 4 @] 0.0005# | 0.00055Ki 0.06LLF O 0.0005
21|y =>> mg/ 8 0.03F O 0.0003 7 | 0.00034 % 0.003F O 0.00035%3#% | 0.000355#& | 0.03F O 0.0003k#
g |22[Fr~>n17 me/ 0.251F @) 0.0003#% | 0.00035k3% 0.0214F O 0.0003%% | 0.0003K7# |  02uF O 0.0003:K
23|~ mg/ 8 0.1UF O 0.0015&5% | 0.001%H 0.01F O 0.0014m | 0.0014% 0.1 T O 0.001
24 |eL > mg/ ¢ 0.1 F O 0.001%% | 0.001%% 0.01F O 0.001%% | 0.001%5% 0.1 F O 0.0013k3%
25 |14-2F Y mg/ 8 05T O 0.05%% | 0.055%# 0.054F O 0.005m | 0.00547 0.5 F O 0.055#
26|/mRTFLY me/ 2 0.002LF @] 0.0002:# | 0.00025K i —
27|1F5 % mg/ 4 50LLF O 0.1 0.1K% 50U O 0.1
28 [»o% mg/ ¢ 15T @) 0.55K 0.55K 7 15T O 0.5
TYEZT. TVE=S =N
29 éjéiz&z{a‘;%&zjféﬁ;t;;m e B O 2.3 0.2 - e 6.2
30 | B ED mg/ ¢ 1T @) 0.1%5% 0.1 IUF O 0.1
KRIEEEE % | »g-TEQ/ S 10LLF O 0.013 0 1UF O 0.095 2.0 10LLF O 0.00035
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1 |B5Ees® mS/m 17 | 62 31 | 84 46 | 92 72 | 84 53 | 84 52 | 86 53 | 87 21 | 58 21 | 59 58 | 94 59 | n 28 | 56
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